Basic Algebra: Subtracting Real Numbers

Questions

1. Explain in words who you would find —8 — (—3).

3
2. Subtract 1 (

3. Subtract —% —
4. Subtract 2.64 —
5
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7

Solutions

3
_5).
5
5
(—1.83).

. Combine —6.4 — (—2.7) + 5.3.
. Combine 42 — (—30) — 65 — (—11) + 20.
. What is the temperature after a rise of 13°C from a start of —21°C?

1. First, change subtracting negative three to adding positive three. Then use the rules for adding two real numbers with

different signs. —8 — (—=3) = -84+ 3 = —5.
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N O v s

. —21°C + 13°C

20

. 2.64 — (—1.83) = 2.64 + 1.83 = 4.47.
. =64 —(~2.7)+53=—-64+27+53=16.
. 42 — (=30) — 65 — (—11) 4+ 20 = 42 + 30 — 65 + 11 + 20 = 38.

= 8°C.

common denominator
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